
Time: 10 Minutes Paper G. Science 6th Total Marks: 10

6th Month, 4th Week, 2nd Day Syllabus: Unit # 12:  Artificial Satellites to

Geostationary satellites.

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Which of the following is a natural satellite? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ŠŠŠŠggggCCCC]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$ìììì????

(a) Sputnik 7” (b) Hubble telescope T8j\
(c) Moon e0+ (d) Geostationary æe~

2. The geostationary satellite completes one revolution around the earth in:

ææææeeee~~~~]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$iiii}}}}ÆÆÆÆ¤¤¤¤////ŠŠŠŠZZZZqqqq----6666''''''''''''~~~~åååå™™™™@@@@****ììììXXXX

(a) 120 days ŠâV 120 (b) 24 hours [RV 24

(c) 12 hours [RV 12 (d) 20 hours [RV 20

3. The first artificial satellite was sent into the space by___________.

ªªªª¡¡¡¡¦¦¦¦]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$''''''''''''''''ääääÜÜÜÜ~~~~5555ååååXXXX

(a) Ameria Z%M (b) China e¤ (c) Russia gzk (d) India Z&+c*
4. In sputnik-2, the passenger was: ~~~~))))����ÛÛÛÛåååå:::: 2 7777ãããã

(a) Rat a; (b) Dog Â (c) Rabbit yÍl (d) Bat ÆŠh

5. The weight of explorer I was: ZZZZ&&&&½½½½kkkk5555ÒÒÒÒðððð GGGGFFFFggggggggXXXX1111»»»»zzzziiiiyyyyåååå::::
(a) 10 Kg (b) 11 Kg (c) 12 Kg (d) 14 Kg

6. Which of the following was a simple metal sphere containing radi

transmitters? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ŠŠŠŠ{{{{ÖÖÖÖ^̂̂̂©©©©2222....çççç
EEEE
GGGG
JJJJìììì����ggggiiii++++----RRRR,,,,ZZZZ

$$$$gggg....2222....çççç

EEEE

GGGG
HHHHiiii6666,,,,ŒŒŒŒìììì????

(a) Sputnik 7” (b) Explorer I I Z&½k5Òð GFgg

(c) Geostationary æe~ (d) Polar orbit 7°Mg#$

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i)  What do you know about explorer I satellite? ]45Õä G

HV$Æ!*g}~M\HY…÷? I Z&½k5Òð GFgg
(ii) How are artificial satellites playing big role for the betterment of mankind?

¡¦]45Õä GHQZK̈+MÅ4~Æa¾§bZë™ŠZgZŠZ™gì÷?
Q.No.3. What are artificial satelletes? Explain geostationary satellite.    (3)

¡¡¡¡¦¦¦¦]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$HHHHìììì????ææææeeee~~~~]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$ÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
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